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LABJINDu6
tristimulus value difference
YacmL*w  nc=100,
T*LaBanDu6 =[NI(A 1n+A2a)I/(A 20A0n)] (Ync/200<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dYg=0,53, Ay=1,000, G=1,00

dY;4=0.12, A=0.017, Agn 0,0058
dY3,=0,03 Y,=18, dY=0,12

T*,=498 dY,=0,12 dY,/Y, O(‘JF/ 0’

log (AY/Y) LABJINDuU6
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBINDus=[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y

(dY/Y=0,0059, Ay=1
(dY/Y)=0,0067, A =0
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LABJINDu6
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

(Y/dY}=166,97, A,=1,000, ¢=1,00
(Y/dY)g=148,27, A=0,017, A,=0,0058
(YIdY} =95 03 218, d=0.12

log (Y/AY)
C,=(Y/AY)

T*,=498 dY,=0,12 Y,/dY,, 148
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Y,=18
2 Yw=90

LABJNDuG relative triangle lightness T*/T*,

TEIT
Y=l ;6 :ne=100

T,
T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
T+ (3,6)=219,T* ,(18)=498,T* (90)=776
T*odT*,=1,55, Ayr=L,000, ¢=1,00
.

20,017, A= 00058
T3 §T4,=0,43, =498 34 (=1

T*/T* =1, m;=0,79
PR I application
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Y,=18
Yy =90

Yn=3.6

LABJNDU6 relative
tristimulus value difference
Yoc=L*w - -nc=100,

T*Laganbus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIY,=Ag A +AgYI/dY,

dYeg/dY,=4,43, Ay=1,000, ¢=1,0
Y,¢/dY,=1,00, A=0,017, A2= ! o
dY3 ¢dY,=0,31 Y,£18, dY=0,12

log(AY/AY,)
AYIAY,

T*,=498 dY,;=0,12 dY_/Y,=0, (‘JF. A

log [(AY/Y) I (AYIY)] LABJINDUG relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LABINDUS=[IN[(A 10+A2nY)J/(A 2nA0n)] (Yd/100<Y<=Yc)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(dY/Y)o/(dY/Y)=0,88, Ay=1,000, ¢=1,00
(AY/Y)(dYIYY=1,00, Ar=0.017, A;=0,0058
(dY/Y%ily(dY/Y‘L <58 ¢‘"_13 ay= 2o

Iog[(dY/YY(dY/Y)J] 0, m=-0, 13 3
T*,=498 dY,=0,12 d¥,/Y,=0,0067,

1y,=18
=Clp log
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Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDUG6 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
(YVIAYY(YIAY), =Y IYIAY Y )TA oA g Agr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=1,00
(Vi (YIV} =100, Av=0,017 Ay 0,0058
(Y/dY%vd(Y/dY =0,64 Y,=18, dY;=0.1
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